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SRELENENMIZIEE
Vv FEEREES8:00% = XMER8:225F (ShHLVAR)
— JKFIER8:38F% = #R=EBR8:427F (J REAFEHR)
— HEER9I:07H = BEAEE9: 1278 CKRSIBETE EXEIT/AR)

Vv REBER10:33F% = KFMER10:403%F (J REGARR)
— JKFER10: 54 % = EBER11:337%F (AndhHlLyviR)

Vv REBR13:36% = KMER13:433%F (J REGARR)
— JKFER13:54 % = ZEBER14:337%F (AndhHlLyiR)
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vV OEEIES:05% = KARS: 2% (ShHLVIR)
— KHBRS:38% = KHERS: 5% (JREAR

v ZEER10:25% = KMER10:547%F (Ah&HLVIR)
— JKFER11:13% = RZHEER11:287%F (J REAEKR)

v ZEER13:25% = KMER13:54%F (Ah&HLVIR)
— JKFER14:13% = £HREER14:30%F (U REAER)
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Vv ZHEERI13:16% = KMER13:37%F (JREAR)
— JKMER13:54 % = ZKER14:335%F (AndHLyiR)

[HREE1DBEE]
VvV ZEHEBR15:58% = KkMEL16:177%F (J REAFELR)
— JKFER16:34 % = ZEEER17:077%F (AhHLVIR)



